
If hemp replaced cotton globally, the 
increased fiber yield would free up an area of farmland 

about the size of the state of Florida. The reduction in highly 
toxic pesticides would match the weight of a fully loaded aircraft 

carrier – the USS Enterprise – or 94,080 tons, to be precise.

In the USA, approximately 1.4 billion cotton T shirts are sold each year.
If these were replaced by Hemptown T shirts:

The energy savings (3.486 million GJ) would provide household power for a full year 
to 92,361 people – about the population of Santa Barbara, CA or Miami Beach, FL.

The water savings (1,339 billion gallons) would satisfy the household water consumption for 
more than half the population of the USA for a full year!

Think about it.

Tough not to vote with your purchasing decisions, isn’t it?
Become part of the solution.

part of the solut ion

For sources
on

inform
ation

and
assum

ptions used for these calculations, see: http://calculator.hemptown.com/calculator.h
tm
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Now that you know…
it’s simple to be part of the solution. 

part of the solut ion


